Riemann Sum Warm up (Day 2) and Trapezoidal Notes

An amusement park opens its doors at 8AM (t = 0).  The rate that people enter the park is given below for various times during the day until the park closes at 10 PM (t = 14).  Use the table for given values to answer the following questions.
	Time (hours)
	0
	2
	5
	10
	14

	p ‘ (t)  ( 1000’s ppl/hour)
	7
	11
	8
	4
	0



1. Use a left Riemann Sum with 4 subintervals to approximate the total number of people that entered the park during the day.





2. Use a right Riemann Sum with 4 subintervals to approximate the total number of people that entered the park during the day.








3. Find the average of the answers from questions 1 and 2.



[bookmark: _GoBack]Trapezoidal notes
We used rectangles to approximate the area under a curve.  However, this is not the only shape that we could have used to approximate the area.  Rectangles are easy to calculate, which is what makes them convenient.  
However, another shape that is relatively easy to use is the TRAPEZOID.  Trapezoids are easy to use to find area and they are generally a more accurate approximation.
Area of a trapezoid:  
Important note:  When approximating area using trapezoids, the bases of the trapezoid are the vertical line segments (height of the function) and the height of the trapezoid is always on the x-axis.








Example 1:  Given , use a trapezoidal approximation to find the area under the curve using 3 subintervals of equal length over the interval [0, 6].



Using the table from questions 1-3, approximate the total people entering the park using a trapezoidal approximation with 4 subintervals as given in the table.
